e ——ETE..

Join Telegram Group "HaryanadJobs.in" sy

ENGLISH LANGUAGE

Direction : Fill up the blank with suitable
preposition from the alternatives given.

1. He was in a hurry and just glanced

the letter.
[A] over [B] at
[C] through [D] by

[E] None of the above
Direction : In the following question, a part of
the sentence is underlined. There are given
alternatives [A], [B], [C], [D] and [E] to the
underlined part which may improve the
sentence. Find the correct one and mark it.
In case, no improvement is needed, option [E]
is the answer.

2. | hope you won'’t object to me watching

while you work.

[A] against me watching

[B] me to watch

[C] to my watching

[D] about me watching

[E] No improvement
Direction : In the following question, five
options [A], [B], [C], [D] and [E] are given
which better describe the meaning of the
sentence in one word. Choose the correct
alternative among them.

3. An office or post with no work but high

pay '
[A] Honorary [B] Sinecure
[C] Gratis [D] Ex-officio

[E] None of the above
Direction In the following question, a
sentence is given with a particular word given
in CAPITAL letters in it. You are required to
determine the most opposite of that word from
the given options [A], (B], [C], [D] and [E].

4. SAGACIOUS decisions taken at right

time in career has long effects.

[A] Foolish

[B] Intelligent

[C] Thoughtful

[D] Intuitive

[E] None of the above .
Direction Choose the most suitable
alternative [A], [B], [Cl, [D] and [E] to make
the sentence logical in sense.

5. During rainy seasom, this stream

[A] overflowed

[B] overflow

[C] overflown

[D] overflowing

[E] None of the above
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Which of the following is not correct?
[A] Light is an electromagnetic wave
[B] Light travels in a straight line
[C] Light is a transverse wave

[D] Light is a longitudinal wave

[E] None of the above

Is it really true or a myth that stars

appear higher than they actually are?

If yes, then which phenomenon is

responsible for it?

[A] Myth

[B] Yes, refraction of light

[C] Yes, atmospheric refraction of light

[D] Yes, dispersion of light

[E] None of the above

The charge of impeachment against

the President of India for his removal

can be preferred by

[A] Both houses of Parliament

[B] Speaker of Lok Sabha
Chairman of Rajya Sabha

[C] Rajya Sabha

[D] Lok Sabha

[E] None of the above

GST is

[A] State tax

[B] Central tax

[C] Excise duty

[D] Both [A] and [B]

[E] None of the above

Which of the following is not involved

in the preparation of budget?

[A] Finance Ministry

[B] NITI Aayog

[C] Comptroller and Auditor-General

[D] Finance Commission

[E] None of the above

Which one among the following States
has the highest gender disparity?

and

[A] Odisha [B] Uttar Pradesh
[C] Haryana [D] Maharashtra
[E] None of the above

The first woman Governor of a State in
free India was

[A] Mrs. Indira Gandhi

[B] Mrs. Vijaya Laxmi Pandit

[C] Mrs. Sarojini Naidu

[D] Mrs. Sucheta Kripalani

[E] None of the above '
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Tughlakabad was established by
[A] Ghiyas-ud-din Tughlaq

[B] Muhammad bin Tughlaq
[C] Firuz shah Tughlaq

[D] Abu Bakr Shah

[E] None of them

The meaning of the name Jainism’
comes from ‘Jina’ which means

[A] peace and surrender to God

[B] the enlightened one

[C] the way of the Gods

[D] the spiritual conqueror

[E] None of the above

Who is regarded as the Father of All-
India services'?
[A] Lord Macaulay

[B] Lord Cornwallis
[C] B. R. Ambedkar 'ﬁﬁ
[D] Sardar Patel %
[E] None of them

Which one of the following is

associated with the formation of brown
air in traffic congested cities?

[A] Sulphur dioxide

[B] Nitrogen oxide

[C] Carbon dioxide

[D] Carbon monoxide

[E] None of the above

In fireworks, the
produced because of
[A] sodium [B] potassium
[C] barium [D] mercury
[E] None of the above

The period of Aryans of Kuru Vamsha,
centuries before the Mahabharata
period was marked with the beginning
of which of the following ages?

[A] Cultivation age

[B] Copper age

[C] Iron age

[D] Metal age

[E] None of the above

green flame is

Which of the following provinces of
Haryana extended valuable cooperation
to the British army in the Revolt of
18577 '

[A] Bahadurgarh [B] Tawaroo

[C] Jhajjar [D] Jind

[E] None of the above
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Who among the following great warriors
of Haryana was the Naib Kotwal of
Meerut at the time of Sepoy Mutiny?
[A] Abdus Samad Khan

[B] Vikram Singh

[C] Rao Krishna Gopal

[D] Rameshwar Dayal

[E] None of them

In the first Freedom Struggle, which of
the following Kings of Ballabhgarh led
the revolutionary army in Delhi?

[A] Raja Karn Singh

[(B] Raja Nahan Singh

[C] Raja Suraj Bhan

[D] Raja Satyapal

[E] None of them

Haryana Day is celebrated on

[A] 1st November [B] 13th November
[C] 1st December [D] 8th December
[E] None of the above

Being famous in the production of
Basmati rice, which district of Haryana
is known as ‘Dhan-ka-Katora’?

[A] Sirsa [B] Karnal

[C] Panchkula [D] Jind

[E] None of the above

The cricket test match in which Kapil
Dev of Haryana took 432nd wicket to
make a record of taking maximum
number of wickets was held on

[A] 10 January, 1992

[B] 8 December, 1996

[C] 8 February, 1994

[D] 12 August, 1997

[E] None of the above

Geeta Jutshi, a famous player of
Haryana, is concerned with which of
the following games?

[A] Gymnastics [B] Race

[C] Badminton [D] Tennis

[E] None of the above

[n Haryana, the skirt worn by females
from waist to ankle which is without
any gusset and made of hand-spun
coarse cloth knitted by using four blue
and four red threads is called

[A] Dharna [B] Khara
[C] Thara [D] Kachara
[E] None of the above
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At Islampur in the district Gurgaon,
which of the following festivals (Mela)
is organised on the ninth day of Bhado
(the sixth month of the year according
to the Hindu calendar)?

[A] Gugga Naumi

[B] Nag Pooja

[C] Yamuna Snan

[D] Shiv Mela
[E] None of the above
Which of the following traditional

ornaments is worn by males in Haryana?

[A] Goph [B] Tagari
[C] Nada [D] Kadi
[E] None of the above

In order to promote Punjabi language
in Haryana, it has been made the
language of the State.

first [B] second

third [D] fourth

None of the above

[A]
[C]
(E]

The
[A]
[C]
[E]

number of districts in Haryana is
16 - [B] 17

18 [D] 21

None of the above

The tourist place called Oasis is,
situated at which of the followiBatl]
places in Haryana? E’E‘m
[A] Faridabad [B] Bhiwani
[C] Uchana [D] Rewari
[E] None of the above

Bhakra Canal provides water for
irrigation in which of the following
districts of Haryana?

[A] Sirsa [B] Hisar
[C] Rohtak [D] All of the above
[E] None of the above

Which of the following lakes is situated
in Farrukh Nagar block of the State?
[A] Sultanpur lake[B] Damdama lake
[C] Khalilpur lake[D] Kotla lake

[E] None of the above

The famous Badkhal lake is situateq
in which of the following districts of
Haryana?

[A] Gurgaon [B] Bhiwani

[C] Faridabad  [D] Rohtak

[E] None of the above
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Which district of Haryana ranks first in
the production of mustard?

[A] Mahendragarh

[B] Faridabad

[C] Rohtak

[D] Panipat

[E] None of the above

Which article manufactured in Haryana

is exported to foreign countries?
[A] Brass Utensils

[B] Paint

[C] Liberty Shoes

[D] Wooden Furniture

[E] None of the above

Which is the famous eco park of
Haryana?

[A] Sultanpur Bird Sanctuary

[B] Kalesar National Park

[C] Asola Bhatti Wildlife Sanctuary
[D] Bir Shikargah Wildlife Sanctuary
[E] None of the above

The climate of Haryana is subtropical

dry continental, mainly due to the

[A] distance from the Himalayan
‘Mountains

[B] South-Western monsoon win TH]

[C] distance from the Morni Hill@%&

[D] North-Eastern monsoon wind [a] Jf:

[E] None of the above

AL

In which geo-gestational period,! the

river, drain, mountains etc. were
constructed smoothly in the State of
Haryana?

[A] Mesozoic period
[B] Paleozoic period
[C] Cenozoic period
[D] Jurassic Period
[E] None of the above

The bending of electrodes of lead acid
cell due to overcharging and
discharging, improper electrolyte and
temperature is known as

[A] local action [B] sulphation

[C] buckling [D] sedimentation
[E] None of the above

Efficiency of a transformer is usually
[A] 70-80% [B] 60-70%

[C] 50-70% [D] Above 90%

[E] None of the above
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e et

open circuit

voltage 2V and internal resistance of
llel to

2 ohm are connected in parad
supply a load of 2 ohm, the current
supplied by the battery is

[A] 033 A B] 2 A

[C] 0:8A [D] 0:66 A

[E] None of the above

The purpose of the capacitor in a fan is

to

[A] increase the speed

[B] protect the fan when fault occurs

[C] control the speed

[D] give phase shift

[E] None of the above

What 1is the correct relationship
between capacitance (C), voltage (V)
and electric charge (Q)?

W c=2 B C=VxQ
: Vv
[Cl Q= % [D] V=CQ
[E] None of the above
What is the minimum internal

diameter of GI pipe for pipe earthing as

per Indian standards?

[A] 32 mm [B] 38 mm

[C] 28 mm [D] 25 mm

[E] None of the above

Two wires of resistances are joined in

parallel. The equivalent resistance

may be '

[A] less than the smallest member

[B] greater than the larger memb@,]?t,-k

[C] mid-value of both the resistors i’

[D] zero v

[E] None of the above

The length and area of cross-section of

a wire are doubled, its resistance is

[A] unchanged [B] doubled

[C] halved [D] quadrupled

[E] None of the above

Constantan wire is used for making

standard resistance, because it has

[A] high melting point

[B] low specific resistance

[C] high specific resistance

[D] negligible temperature coefficient
of resistance

[E] None of the above
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54. When a motor car is started its light
pecomes slightly dim because
[A] of induced current in the coil
[B] battery e.m.f. falls
[C] starter draws high current
[D] of large potential drop
[E] None of the above

55. According to Kirchhoff’'s law the
algebraic sum of the products of
current and resistance as well as e.m.f.
in a closed loop is
[A] zero
[B] greater than zero
[C] less than zero .

[D] one
[E] None of the above

86. Primary distribution voltage is
[A] 33 kV [B] 415V
[C] 33kV [D] 11 kV
[E] None of the above

57. To get more holes, a pure silicon is

doped with
[A] phosphorous [B] boron
[C] arsenic [D] antinomy

[E] None of the above

58. Which of the following refers to a small,
single-site network?
[A] LAN [B] RAM
[C] DSL [D] USB
[E] None of the above

59, Which motherboard form factor uses

one 20-pin connector?

[A] Baby AT [B] AT

[C] ATX [D] All of the above
[E] None of the above

e used for

60. The insulating materials to b
have

most of the electronic equipments,

[A] arc resistance

[B] thermal stability

[C] high electric
strength

[D] All of the above

[E] None of the above

and mechanical

61. A bimetal relay is used for
[A] overload protection
[B] underload protection
[C] Both [A] and [B]
[D] Temperature control
[E] None of the above
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The yoke of a DC generator is usually
made of

[A] cast iron
[B] copper
(€]
[D] stainless steel
[E] None of the above

silicon steel

For a semiconductor,
coefficient of resistance is

[B] zero
[D] one
[E] None of the above

temperature

[A] positive
[C] negative

Which motor is used in ceiling fan?
[A] Shaded pole motor

[B] Permanent capacitor motor

[C]
(D]

Universal motor

Capacitor
motor

[E] None of the above

start, capacitor run

Which is a passive component?
[A] Diode

[B] Transistor

[C] Insulator

[D] All of the above

[E] None of the above

Which typé of a single-phase motor is
having a commutator?

[A] Water pump motor
[B] Repulsion motor

(€]
[D]
[E] None of the above

Shaded pole motor

Stepper motor

In DC machine, number of commutator
segment is equal to

[A] number of armature conductors
[B] number of poles

(C]
[D] two times number of poles
[E] None of the above

number of conductors

10

S (c
ﬁ?’% [E] 3w § & B T

62. WW:WDCWWW(YOR)W
g 8
(A] FR I 4§
B] R ¥
(] Rufernit et &
(D] ®ew ¥ §
[E] e § @ @i T
63. dfidheaet % foTe wfAlYy &1 AITHM U0 Bl
2
[A] O
ffea

[B] I
[D] T

64. ST U@ § RT-T7 Hie SRR R S 27

D] FafR =r’, Fmfte W@ A
[E] 37 § ¥ w5 &

65. ®H-¥ T g HUAHe B?
[A] sEE
B] ZifR
[C] Fgu
(D] 3w wft
[E W% § 3 B &

66. [FE TR & famer-e et # wegee g 27
[A] T U9 HWT

[B] fuedm Hiew

[C] 9T O HiX

[D] VW Hiew

[E] SW% & & % &
gcmﬁ,m@a@ﬁmm%m
[A] IR Hea f g= F

[B] dew Ht wEm H-

[C] #sFX i T F

[D] 98 A Fen F P F

[E] W& # ¥ ¢ =&

67.
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68.

69.

70.

71.

72,

73.

74.

I6-E

D]

What is the reason of tem
hardness of water? P
[A] NaQSO.q. [B] Ca012

[C] NaCl [D] Ca(HCO,),

[E] None of the above

If measured temperature on Fahrenheit
scale is 200 °F, then the reading on
Celsius scale will be

[A] 40 °C [B] 94 °C
[C] 93.3°C [D] 30 °C
[E] None of the above

The Chota Nagpur Plateau is drained
by which river?

[A] The Damodar river

[B] The Godavari river

[C] The Ganges river

[D] The Krishna river

[E] None of the above :

the most productive part of India?

[A] Northern plains

[B] Peninsular plateau

[C] Coastal plains

[D] Indian desert

[E] None of the above

Lack of oxygen in muscles often leads
to cramps among cricketers. This
results due to

[A] conversion of pyruvate to ethanol
(B] sion of pyruvate to glucose

conver
[C] of glucose to

non-conversion
pyruvate .
conversion of pyruva
None of the above

adult human on an average

te to lactic acid

[E]
An

produces
[A] 1-2 L of urine per day

[B] 1-5 L of urine per day
[C] 2-5 L of urine per day
[D] 4-5 L of urine per day
[E] None of the above

A father is 7 years older than the

mother and the mother’s age now is 3
aughter. The

times the age of the d
daughter is 10 years old now. What was
the father’s age when the daughter

was born? ,
[A] 27 years [B] 37 years
[C] 15 years [D] 40 years
[E] None of the above

Which of the following is agriculturﬁi
Py
(=253
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69.

70.

71.

72.

73.

74.
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qeft 6 IR HIE H A F R?

[A] Na,SO, [B] CaCl,
[C] NacCl [D] Ca(HCOs),

[E] 376 § & 1§ Tl
R GRAgEe SAR W AT T aHE 200°F

2 @ Afewd TR W 9T BN

[A] 40°C B] 94°C

[C] 93.3°C [D] 30°C

] 3w # & F§
aﬁawmﬁmﬂé’lﬁmm%ﬁ@m%?
(A] gmiee &

(B] TeEd T

[c] Tm T

[D] Fom &

[E] 3% # @ FE T

Prefifian @ wR-w HN A 3R § 9w
F HIY IAGH fEE R?

[A] W AEH

(B] ygdiy (Peninsular) Y8R
[c]- @t #eH

(D] YRefr e

B e A @ W

nia&ﬁﬁiﬁaﬁa@ﬁﬁffﬁ?rmﬁ#zﬁ

[c] wfifer 2-5 L T
(] wfifer 4-5 L T

[E] 30w # & B T

o foar At @ 7 @l w91 & AR A A T
3q %@ i oW, w3 T 2 | 9 anfi 10 4
£ 21 30 F 5 % @ T 6 37 7w Aty
(B] 37 "

[c] 15 @ [D] 40 &

(] 00w d @ B
[P.T.O.
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75. A train moves pasta telegraph post and 75. Th 37{ Th Waﬁl 20, a5 it h
a bridge 264 m long in 8 seconds and 1 HAd: 8 a5
20 seconds respectively. What is the 27{ £ qﬁ{ w1 27

speed of the train?
[A]. 69.5 km/hr [B] 70 km/hr
[C] 79 km/hr [D] 79.2 km/hr

[A]. 69.5 .. /g [B] 70 fp. Y. /g
[c] 79 fp.1ft. /g [D] 79.2 fep. 1. /8T

IR | gl
[E] None of the above ‘ (] i3 h
76. A jar full of whisky contains 40% 76. feEh! F W T IR 4 40% IIE 2
alcohol. A part of this whisky is fReh % T 9 @ 19% :m-‘q’ﬁ’aﬂ IH g
replaced by another containing 19% T @ we@ oA 2 3R 3@ IeHIEA Hl
alcohol and now the percentage of & : fhl &$i
alcohol was found to be 26%. The ratio 26% r Tl
of quantities of whisky replaced is AT 6 HE 2
A] 1/3 B] 2/3 [A] 1/3 [B] 2/3
€ 2/s Dl 3/5 €l 2/5 D] 3/5
[E] None of the above (E] s # A g T é/b -6
77. The speed of a boat in still water is 77. RS ¥ T A ﬁ’fﬁflo _ﬁﬂﬁc’/qa-zl
10 km/hr. If it can travel 26 km af 98 T @ T | U F I 26 fepotlo
downstream and 14 km upstream in SR g %‘ W 14 ﬁ;“oi‘ﬁo' ﬁaﬁm 'jé
the same time, the speed of the stream is ) - 5 25 AW
gedt 3, @ o M R Ll
[A] 2 km/hr [B] 2.5 km/hr , .
(A] 2 fFoflo/eim [B] 2.5 fRotflo/Eal
[C] 3 km/hr [D] 4 km/hr * o i o ]
[E] None of the above [C] 3 Iorle/se  [D] 4 oHfle /el

[E] IW6 # ¥ %y T
78. Find the value of the following :

(343)2 + (343)% 78. Fr=fafea w1 9= 3!1?[4% : }}Z&Q“’?
[A] 49 [B] 46 (343)* + (343)3 //;%
[C] 42 D] 40 [A] 49 B] 46
[E] None of the above [C] 42 D] 40

E] S & @ 5
79. ¥4,000 is divided into two parts such

that if one part be invested at 3% and E@E $4,000 1 3 WAl F T e
ol

the other at 5%, the annual interest qTh:
: ST g T
from both the investments is ¥144. Eﬁ AR TH M A 3% AR TR A

Find each part. j:gj;mﬁ:?i?%i jma:mﬁj;ﬁl
[A] ¥2,800, ¥1,200 7 |
[B] ¥3,000, ¥1,000 ﬁ”:i%gg ii;izz ‘?%ZM’%; Tw;
[C] 2,500, ¥1,500 9, X1,

o
[C] 2,500, ¥1,500
[D] ¥2,200, ¥1,800

- [D] ®2
[E] None of the above ] »200, ¥'1,800

/6.E N Bl 3R § ¥ 9% 78

Scanned with CamScanner



Join Telegram Group "HaryanadJobs.in"

IUIIHIMIHIIIMHIIIIHHIllllllllllllllllllllll 1l

go. Find the number of triangles in the

given figure.
[A] 8 [B] 10
[C] 11 [D] 12 [E]:50E]
[E] None of the above “’E&f"‘f
g1. Select a figure from amongst the A%#
Figures which will continue the same
series as established by the five
Problem Figures.
Problem Figures
@ ® © @ (@
Answer Figures
1y @ 6
[A] 1 B] 2
[C] 3 [D] 4
[E] None of the above
82. Two statements are given in (the
four

following question, followed by
conclusions I, II, 111 and IV. You have to
take the given statements to be true,
even if they seem to be at variance
from commonly known facts. Read all
the conclusions and then decide which
of the given conclusions logically follow(s)
from the given statements disregarding
commonly known facts as given below :
 Statements @
1. All philosophers are fools.
2. All fools are illiterates.
Conclusions :
I. All philosophers ar
II. Al illiterates are philoso
III. Al illiterates are fools.
IV. Some illiterates would be
philosophers.
[A] Only IV follows [B] I and IV follow
[C] Only II follows [D] I and IV follow

[E] None of the above

e illiterates.
phers.

/16-B
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80. & T Impf A Pl N HE

82.

0 @ @ @
[A] 1 B] 2
[C] 3 [D] 4

E e & B |
Reffad s & & e Ry e &, R e
ar frssd 1 10, 101, IV g e &1 s g T
wﬁﬁﬁmé,ﬂé‘aﬁ%maﬂﬁ@r
mm?ﬁﬁlm’ﬁwﬁﬁw&aﬁtmaﬁ
%mmﬁ%ﬁﬁﬁaﬁq-mﬁwﬁé%ﬁ%ﬁq
o AT e & T A B e 6 e
mwﬁmmw% ST H B

O
1. wft grifi 7 g

2. @it q@ 3G
foreerd «

1. aft i 3FTE &L
. @h g TRibE R
m. e e E E-
V. $O G it Bl
(A] ¥ IV IGE H
[B] [ 3R IV e W E
[C] ddet Il TR R
(D] 1II 3R IV ITEW FW &

J[E] TReE # A P T

[P.T.O.
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If the population figures are given for
each State of India, then the data can
be classified as y

[A] qualitative [Bl quantitative

[C] chronological [D] geographical
[E] None of the above

The measure which takes into account
all the data items is

[A] mean [B] frequency
[C] mode [D] median
[E] None of the above

If in a certain code, SAND is VDQG and
BIRD is ELUG, then what is the code for
LOVE?

[A] PRYG [B] ORTG

[C] NPUH [D] ORYH

[E] None of the above

The computer’s processor consists of
the following parts :

[A]
Bl
(C]

CPU and main memory

Hard disk and floppy drive
Control unit and ALU

[D] Operating system and application
[E] None of the above

The first computer was programmed
using

1A)
(Bl
(€]

Assembly language

Machine language

Spaghetti code

[D] Source code

[E] None of the above

A___ is a software program used to
view web pages.

[A] site [B] host

[C] link [D] browser

[E] None of the above

Where is RAM located? ' ;
[A] Motherboard [B] Expansion boar
[C] External drive [D] CPU

[E}] None of the above - -
Which of the following is a na u::
phenomenon which is. caused b%r e
dispersion of sunlight 1 the sky

(A] Twinkling of stars

[B] Stars seem higher than they
actually are :

(C] Advanced sunrise and delayed
sunset

p] Rainbow

[[E]] None of the above

/6-E
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83.

84.

85.

86.

87.

89.

90.

T T

afe T 3 Wk T & I SEE % e
R 7 &, A S w1 afighd feRam o wema }
(A] TR ®9 ¥ By HEICHR W H
[C] FErEg ¥ & [D] ¥ferF &9 8
[E] IR 8§ & ®E T

8 W ) @ 2 3EH e H T g,
a8 B 2

[A] AT (mean) [B] FgR (frequency)
[C] S§&% (mode) [D] AIfEqehT (median)
[E] 390k # & HE &

afe us fiffag @ # SAND, VDQG & 3R
BIRD, ELUG 2, @ LOVE % fiq g @1 87

[A] PRYG [B] ORTG
[C] NPUH [D], ORYH
[E] W # ¥ 8

W%mﬁﬁﬂﬁf@ﬁﬂm@ﬁg
[A] CPU 3R &7 AHr

B] &% fom 3t =i gEa .

[C] e Jfe 3T ALU 1=~

[D] ffen fawem 3t Uwefiere -

[E] 30w # ¥ +§

qgell S ____ 1 SN Hh S e
T e

[A] oTEFEEl W

[B] wsfA W

[C] & &8

[D] o ®ig

[E] 3w d & =8

9 @ & fag fmn wmr Ry

[A] §WE (site) [B] &% (host)

[C] % (link) [D] S8 (browser)
[E] 3w § ¥ =8

RAM gl fR@ & 27

(A] W [B] wwwivH =g

[C] wH¥eis g®E  [D] CPU .

[E] 3Wre 0 ¥ 8 &
mﬁﬁm—m@w@ﬁ{mmﬁiﬁ
T H {& % WY % e (dispersion)
% HRO B B?

[A] Rl 6 srrmee

B] R amqa d e 3N ¥, s+
[C} 3 it o famifr gate

D] Ssudw

[E] 300w o ¥ 9 T8
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